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Population growth is described as a dynamic process – it changes over time.

Population growth is distinguished in two ways:

1. Continuous – change is constantly happening. It is impossible to observe it in a specific state. It is changing right before your eyes.


2. Discrete – change happens after a period of time has elapsed. The population remains constant for a period of time, and then a change occurs.

For populations that grow discretely, a change in the population is called a transition. The transition is governed by transition rules – how the population changes. Each time a transition occurs, we have a new generation.

We can create a list of the population size of each generation, which is called a population sequence. A population sequence starts with an initial population designated P0.

· The size of the 1st generation is designated P1.

· The size of the 2nd generation is designated P2.

· The size of the 3rd generation is designated P3.

· The size of the Nth generation is designated PN.

The population sequence would be listed: P0, P1, P2, P3, … , PN.

Example:

Start with an initial population P0 = 1 pair of baby rabbits.

Transition rules:

1. A baby pair takes one month to mature.


2. Once a month, each mature pair gives birth to a baby pair.

Draw a chart to show the first five generations (N=5).

List the population sequence.

